
Modus
MDWB/110 - MDWB/140
DESIGN
Pedrali R&D

INSTRUCTIONS
Istruzioni - Gebrauchsanweisungen - Instructions - Instrucciones

Pedrali SpA - www.pedrali.it - info@pedrali.it 1/2

IS
TR

_M
O

DU
S_

M
DW

B-
11

0_
M

DW
B-

14
0_

20
22

.1

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

EN - Carry out the assembly following the numerical sequence shown in the drawing.
IT - Eseguire il montaggio seguendo esattamente la  sequenza numerica indicata nel disegno.
DE - Die Montage soll genau wie in der angegebenen numerischen Folge durchgeführt werden.
FR - Executer le montage en suivant exactement la séquence numérique indiquée dans le dessin.
ES - Hacer el montaje exactamente según la secuencia numérica del dibujo.

5
x7 x6 

4
 M6x45 

5 mm
0.2 in 

x3 

3

1
2

 M6x20 

8

9

7

6

 M6x45 

x6 

x3 

 4,8x9,5 

5 mm - 3/16 in

5 mm - 3/16 in



Pedrali SpA - www.pedrali.it - info@pedrali.it 2/2

IS
TR

_M
O

DU
S_

M
DW

B-
11

0_
M

DW
B-

14
0_

20
22

.1

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

17

18

 M6x45 

x6 

16

15

 M6x45 

x3 

14

12

13
x3 

 4,8x9,5 

11

10

 5x20 

x8 

x2 

5 mm
0.2 in 

5 mm - 3/16 in

5 mm - 3/16 in


